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AP® United States Government and Politics 2022 Scoring Guidelines  

Question 1: Concept Application 3  points  

A. Describe  a  structural  barrier  in  the  scenario  that  makes  it  less  likely  that  a  third-party  
candidate will be able to secure enough popular support to justify including the  
candidate in  a debate.  

1 point 

Acceptable descriptions include: 

•  The winner-take-all electoral system discourages voters from supporting third-party 
candidates because they are less likely to win, so third-party candidates rarely have 
enough support to be included in debates. 

B. In  the  context  of  the  scenario,  explain  how  a  third-party  candidate  could  still  have  an  
influence on  public policy despite the barrier described in part A.  

1 point 

Acceptable explanations include: 

•  Even though third-party candidates like Ralph Nader generally are unable to secure 
any electors in the electoral college, they sometimes are able to influence public 
policy by raising awareness of issues which leads to the major parties adopting that 
platform. 

C. Explain  how  including  the  third-party  candidate  in  the  scenario  could  have  had  a  positive  
impact on  participatory democracy.  

1 point 

Acceptable explanations include: 

• Participatory democracy encourages broad engagement, and the inclusion of a 
third-party candidate in a debate will expand the appeal of the election among 
more citizens by bringing in more people and ideas. 

• A third-party candidate like Nader will usually expand the range of issues of interest 
to the public. This could motivate people to participate in politics. 

Total for question 1 3  points  
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AP® United States Government and Politics 2022  Scoring  Commentary  

Question 1 

Note: Student samples are quoted verbatim and may contain spelling and grammatical errors. 

Overview 

The Concept Application question expected students to apply course concepts in response to a 
provided real-world scenario. The focus of the scenario was the candidacy of the 2000 Green Party 
presidential nominee, Ralph Nader. First, students were expected to understand the concept of the 
two-party system and how the dominance of the two major political parties is a structural barrier to 
the success of third parties. A third-party candidate is less likely to secure sufficient popular support 
to justify including the candidate in a presidential debate due to this two-party dominance. Following 
this, the students were expected to understand how the campaign process would still allow a third-
party candidate to influence public policy despite the barrier described earlier in the response. 
Finally, the students were expected to understand the concept of participatory democracy and how 
including the third-party candidate in the scenario would have a positive impact on this form of 
government. 

The question expected students to describe a structural barrier that reduces the likelihood of a third-
party candidate gaining enough support to be included in debates. Students were expected to 
reference the scenario in order to describe the structural barrier. Students were also expected to 
explain how a third-party candidate could still influence public policy in the context of the scenario, 
despite being excluded from debates due to the previously described structural barrier. Finally, 
students had to explain how including the third-party candidate could have a positive impact on 
participatory democracy. 

Sample: 1A 
Score:  3  

The response earned 1 point in part A because “a third-party candidate, such as Nader from the 
Green Party, would have difficulty winning popular support, because of the winner take all system” 
is an acceptable description of a structural barrier. 

The response earned 1 point in part B for explaining that “third party candidates could still influence 
elections because the two main parties, Democrats and Republicans, will usually adopt popular 
third-party platforms or issues that they advocate for that recieves a lot of support.” The response 
relates to the scenario by mentioning the Green Party and Nader. 

The response earned 1 point in part C because “the third-party candidate, Nader ... would show 
individual citizens that their interests are being accounted for, and therefore their actively 
participating in the democracy” sufficiently explains how the third-party candidate in the scenario 
could have a positive impact on participatory democracy. 

Sample: 1B 
Score:  2  

The response earned 1 point in Part A because “the winner take all system ... makes it very difficult 
for a third party candidate to gain support as a majority party will often win all the votes for 
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AP® United States Government and Politics 2022 Scoring Commentary 

Question 1 (continued) 

that state in the electoral college” is an acceptable description of a structural barrier. 

The response did not earn a point in Part B , while it notes that third-party candidates like Nader can 
raise awareness of issues, there is no reference to adoption of the third-party position by the major 
parties. 

The response earned 1 point in Part C because “Having three parties participate in a debate would 
expand the amount of voters” and “when the third party candidate is involved in the debates, voter 
turnout could be more diverse.” 

Sample: 1C 
Score:  1  

The response did not earn a point in part A because “the political campaigns portrayed in the media” 
is not a structural barrier in the scenario. 

The response did not earn a point in part B even though it states that “major candidates can adopt 
ideas from the third party candidate and use them in their own campaigns” because it does not refer 
to the scenario. 

The response earned 1 point in part C for explaining that “the candidate could have provided more 
ideas and policies that the general public agreed with,” so that “more people would feel inclined to 
vote.” 
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